FI0EIRRRE T EFER 1/4

AYSZATOvY 11/26 Z5Hh2E
F—L&| HOAX =h X mE [ B [a] 5 Bk S[EE]ER
HDN | #wAx [4]-]o]3[-] o [3]-]o]3]o]lo]o] 10 of 10 1km
=8 Jo|-| 4 | wxx|1]-| 2 |o]-[4]0]3]0]0 11 10 -9 4
£xX Jo|-| 3 [2]-]1] HKH*xx JO|-[1|[1][2]0]3 2l 5 -3 3
gl [o|-] 3 [4[-Jo]1]-] o] %#xx[2[1]0]6 51 3 2o 2
AY5A2B70v7 11/26 Z5H0E _ _
A= *xx [o]-foJof-| 2 Jo]-[1]1[1]1]4 o 3 6 3
A [o]|-[ o | %*xx [3[-] 1 [13[-|1]2fof1]7] 16 2 14 1|sre
oFEbY | 2]-] o [1]-[3] xx%x [12]-|o]2[1]o|e6] 15| 3 12 2ikp
Fgdr [ 1 [-[ o [ 1 [-[13[of-] 12 ] %k 0|3]o]o0 2| 34 -32] 4
AUSZRCTAvY 11/26 Z5HAE
F—L% Hix | EFca | EME (B8] 5 BRER KR [EX[IEA
p o) wxx | 9[- o Jo]-|[5]1[1]o0]38 o 5 4 2
EfFCa | 0]-] 9] **%* [of[-|21]0|2f0]0O of 30 -30] 3
EmE [s5]-[o]21]-[ o | # 2]o]ofe6]| 26] o 26 1]rEs
BYSAXATOvY 12/3 EXUUK
F—ug | wE | UEP) | wm (w89 [pajEma|xs msEm
ide *w* [0]-] o [o]-[1]o]2]o0]o0O o 1 -] 2
gﬁffﬂ ol-[o| xx%x |o|-|6|o|2[ofo]| o e -6 3

i 1[-Jo]6]-] 0| *%% |2]0]0]6®6 71 o 7l 1R

-

BYSXBJOv%y 12/3)11407]

F—L% E &M 2R [Ba]l o BaEalkaEE]ERE
B K% [10]-] o [1[-[1]1]ol1]4] 11 1] 10 2
B 0J-J10] *%x% [o[-[11Jof2]o]o of 21 -21] 3
EmmE |1 |- [ o | KAxx 1 Jof1]4] 120 if 1] 1]iREE
B&YSZxcJAv%H 10/30 FEFHT 5K
s—ug | w@p | UEPY | e (w89 (ealEs|as ms R
=6 wxx [0]-] 2 [2]-[of1[1]0]3 2l 2| o 1
VEDHLY _ _
oo | 2 0| *%% |O 211]1]0]|3 2l 2 o 1
R o]-12]2[-] 0o | X% [1[1f0]3 2l 2] of 1] ()
BZ25ZXDJAvY
F—L% | H#DOXN #H mEA | |a 5 BB a kA Bk B
HDN ek [-| - 0 0 0 Of#vaLue!
¥H - K - 0 0 0 Of#vaLue!
i H - [-| AR A 0 of Oof Ofvaue




2/4

R

RS

R

ETOEIZRAS FEER
CHY5ZAATOvY 1/21 FRRT/INER
s—ng| mE |(UEPV mw | a0~ B|a|s |males)rslex)Es
HEfar *%%x [o]-[1]of[-] 7 Jo]-|6]o[3][o]o of 14 -14 4
VEDY _ _ _
S 0 | *&x |0 710 2|11(2]0]3 11 o -8 3
= | 7] o [7]-]0] #% 1t]-[1{2fo] 17 15| 1] 14 1
HDX |6 ]-] o |2]-Jo]1]-| 1 | %% |2]of[1]7 of 1 ¢ 2
Cc/5A2B7AvY 11/26 Z5MRE
F—om| w8 |YEPY| mwm | w® |B|a|s |malesjrslex)Es
g3 wxx [2]-[2]1[-] 2 [4]-]7]of2][1]1 71 11] -4 3
VEDY _ _ _ _
SaoL| 2 2 | ek | 6 [0 3lof2]1]1 3l 11| -8 4
gl [ 2] 1 |6]-]1] *%% [of[-]4]3]oflo]?9 8] 6 2 2
8 | 7|-[ 4 [3]-[o]4]-[] o] %% |3[o]of[9] 14 4 10 1
CH5ACcTavy 12/4 FBI 5K
=+=
F—om| me | Emm | owE | BT Il s meles)n e e
EA wxx [1]-[1]6[-] oJe[-]o]2fof1]7] 13 1 127 2
EVE N REER Fxk [12]-] 0 [10]-| 1|2 [o] 17| 23] 2 21 1
A Jo|-[ 6 [o]-[12] #«%% [o]-[4]o0[3]0]0O 0| 22| -22| 4
E¥- _ _ _ _
v~ | © 6 |1 10| 4 0 | %% |1]2]0]3 5 16| -11] 3
C%5AXD7RAv%Y 11/26 Z5NAE
F—L% &M X FHLFT | B | & o |BalE sk slEk]Ec
&M wxx [ 2]-] 2 Jo]-[1ofof1]1]1 2| 12] -10] 3
BXR 2 -1 2] F&kx |1 ]|-[3|of1]1]1 3] 5 -2of 2
EELFT [10|-[o[3[-] 1+ | % [2[0]o]6] 13 1 12 1

RS



FI0EIRRRE T EFER 3/4

DZSZRATOvY 11/20 JIIH0/]s

F—L&| EmE #H HDAN ST IRl B R EY R [
EmE | %wxx |1 [-]Jo]1]-| 3|2 [of2[1]0]3 4 3 1| 2
HA (o[ 1 | *xx Jo[-|]10]4a]-|2]1[2][0]3 4 13 -9 3
HDN [ 3]-] 1 [1o][-]o] &% [11]-]o[3]ofo]e6]| 24 1| 23 1|:kes
=28 Jof-[ 2 J2[-]4fo]-] 11 ] #«% o0[3]o]o ol 17| -15] 4
DYSAB7Ov4 11/27 INLWNT SR 12/10RFINT SR
F—L% X T EHA R el R R EER I EEJ [
£X wwx |o]-]6]1]|-[ 6 [of-]o]Jo]1][2]2 1| 12 -11] 3
mEgEAl 6 [-] 0 | xXx |o[-[ o [12]-|o|2|1[o|6 | 18 o 18 1|=ms
WER | 6]-[ 1 [of-]o] ***% |5]|-]0o]2]1]0o]6] 11| 1f 10 2
figsr [ o [-[ o [o|-[12fo[-] 5 | «ekx [O[1]2]2 of 17| -17] 4
D&3ZCTAvSH
F—L% S EE AR AR ET BT EE [EE
S Yo ok [-| - 0 of o o 1
1EE - AR B4 - 0 of o o 1
VEHLY - [-| Yook 0 of o o i
D%5ZXDJAOvY 12/10 FgY 2K
F—L% &M palo] MFEB | i 8| & [BA|ER KR |EK|EAL
&M www | 1]-| 4 [3[-[4]o]2]0]0 4 8 -4 3
R 41-11] **x&% |10]-[of2fo]o]|e]| 14 1| 13 1|:kE
mgrEB | 4]|-[ 3]0 10| #% 1[1]o]3 4 13 -9 2

E&4SZRATAOvY 12/3 MBI 5K

12| OFPY | wm | mxm | a0 |Blals Bales|lcslexan

J0—)L
VEDHY _ _ _
SO—L Fxk |1 1110 0o |o 1111114l 11l 2 9 2
WME [ 1]-] 1 | S [1[-] 1 [of-]2]0]1]2] 2 2ol 4 -2f 3
mErE o [-[ 10 [1]-]1 **x*x [o]-]2fof2]1]1 1| 13 -12] 4
HDS | 1]-] o [2]-]Jo]2[-] o] *x% [3[0]o]9 5] o 5 1|irEs
E&/SZXB7Ovsy 12/4)I1BIINT SR

F—12 | Bw | OFPY | anx |plals walealcslexEmm

JO—)L 8

= wwx |0]|-| o [4[-[o]1]o]1]4
0
2

S
o
D
—_

R

VEDY _ _
Saln | ol o] xxx |2]-|0]1

EmE Jo|-[4]o]-[ 2 | #%xx |0

=
E-N
N
o
N
N

E&¥SZRCTAvYY 12/17 FERI/INT SR

F—L% Fi e X EE BB R ER A R [
Fi e *wx |0]-| 2 [of-[3]o]2]0]0 of 5 -5 3
EE 2|-]0] **%x* |o0]|-[2|1[1]0]3 2l 2 o 2
F5 3[-Jo]2]-] o] *xx [2[0]o0]6 5] o 5| 1|kms
EY5AXDJBvY 11/6 FAWKI 5K
F—L% #H s sl AR B EE R EY e [
T H wxx |0o]-] 4 |1]-[4]0of[2]0]0 11 8 -7 3
pElo) 4|-lo] *%* [2]-[o]2]o]o0]6 6] o 6 1|:kms
& 41-11]0]-| 2 | *#xx [1[1]0]3 4 3 1] 2




FI0ERFAR TEMRBR

FOSAATOvY 10/30 #HFI UK
F—LA| Emd. | VFEDY 1) EXR | B&] 7 BRGER|ER|GE|ER
Bandr. | wxx |1 |- 5]15[-] o [3]-]5]1]2[0o][3] 19f 10 9 3
OFEHLY [ 5[] 1 | &K [19[-] o [1|[-]1]2]o]1]7]| 25 2 23 1
B [o[-[ 15 ]o]-f19] xx% Jo]-]15]0]3]0]o0 of 49 -49] 4
£% |5/ 3 [1[-[1]15]-] o % [2]of1]7] 2of 4 17 2
F5XB70vY 12/3 MFBAIIUF
F—L% = EE =Rl EE I E CE [
X wxx |o]-] 7 |2]-[4]0of[2]0]0 2l 1] -9 3
NS 71-[0o] *&&x |2]|-|4]1[1][0]3 of 4 5 2
gl | 4]|-[2]4]-[ 2 [ *«xx |2]ofo]6s6 8l 4 4 1
FHSZRCTOvs 12/10 #IGT UK
s—ug | wE | BB | w8 |als males|xsEs R
AR wxx |o]-| 11 ]1]-[4]0of[2]0]0 1| 15| -14 3
R _ -
Lymz |17 0| sk |6 of2(oflo|e6]| 17} o 17 1
= 4f-[1]o]-] 6 ] «%xx [1][1]0]3 4 71 -3 2
F2SAXDJOv% 11/13 HFIT S
F—im | a0~ || BB | mmm ||| 9 [eles | B
HDR | Kxx [11][-] o [7]-]o]2|o]o]e6]| 18 o 18 1
I _ _ -
LoSeg [0 f-[11] x| 5 3|1]1]o]3 5| 14 -9 2
EmE |o|-[7]3[-[ 5 [ %#%x%x ]o]2][0]o0 3] 12 -9 3
D RB—T ELEHE (BUTR4AF-L)
AUSR &70v914
BYVZA AJOyH1{2fi, B, cavy24i k4L
CUZR &70v014L
DUSR &70v014L
EVZX &70v014L
FUOSR £70v99141EA, B7OYY2MD LHI1F— L4

BLF—ALTRILYSRIZ2ZF—LULEIVMN—T 356, F:&, REFEACTFHOANBEZRT]

R

RBs

R B

RBs

JO0vYIRNTLEE2F—LABE ATRILES. HAWNI2GIOF—LARBER EE X
BES-ARTEBERSPK) TRDD
E2)FB)—JIEEARMIARIZERTSES,

R (R —-HRE—

Ft- EEE I 2F—LEFERTRUFAYLRT

4/4



